CORRECTION
NO 2

LACE PATTERN
TOP

Row 2: Turn with ch3 and work *2 dc in
each of the next 2 dc, work (miss 1 dc, 1
dc in next dc) a total of 3 times, miss 1 dc,
2 dcin each of the next 2 dc*, rep from
*-* to end of row, end with 1 dc in last dc.

NO 6

SNOWBELL
TOP

LIk
[0l 1yo
[A] S| 1 k-wise,
k2tog,
psso
NOTE: For rnds beg with this
symbol, work first k2tog, and
pass last st from previous rnd over

NO 11

SNOWBELL
SWEATER

Yarn required:
Almond white #3011: (4) 4 (5) 5 (6) 7 balls

L]k
O 1vyo
(o] SI 1 k-wise,
k2tog,
psso
NOTE: For rnds beg with this
symbol, work first k2tog, and
pass last st from previous rnd over



